#### Office of the Principal, Govt. Polytechnic, Hisar

Order No.:- 1354

Dated: 20 1/0 · 22

Expert Lectures for students of Civil Engg will be conducted as per schedule mentioned below by Smt. Monika Yadav W/o Sh. Rakesh Kumar (M.Tech. Civil Engg.).

Date	Day	Time	Class	Subject
20-10-2022	Thursday	10:00-11:00 Am	3 <sup>rd</sup> Sem	BC-T
		11:00-01:00 Pm	3 <sup>rd</sup> Sem	BC(P)
		02:00-03:00 Pm	3 <sup>rd</sup> Sem	BC-T
26-09-2022	Wednesday	09:00-12:00 Pm	3 <sup>rd</sup> Sem	SRV I(Practical) 3hrs
		12:00-01:00 Pm	3 <sup>rd</sup> Sem	SRV1-T
27-10-2022	Thursday	10:00-11:00 Am	3 <sup>rd</sup> Sem	BC-T
		11:00-01:00 Pm	3 <sup>rd</sup> Sem	BC(P)
		02:00-03:00 Pm	3 <sup>rd</sup> Sem	BC-T
28-10-2022.	Friday	12:00-01:00 Pm	3 <sup>rd</sup> Sem	BC-T
31-10-2022	Monday	11:00-12:00 Am	3 <sup>rd</sup> Sem	SRV1-T

Principal, Govt. Polytechnic

Hisar

Endst. No./GPH/2022/

Dated:

A copy of the above is forwarded to the following for information and necessary action.

- 1.H.O.D Mech. Engg/Civil
- 2. TPO
- 3. Smt. Monika Yadav
- 4. Accountant SF

Principal, Govt. Polytechnic Hisar

# OFFICE OF THE PRINCIPAL GOVT. POLYTECHNIC, HISAR

Office Order No: - 1355

Dated: - 20 10 22

The name of the following Student of 5<sup>th</sup> (B) Mech. Engg. is hereby struck off due to continuous absent since 14 days.

Sr. No.	Roll No.	Student's Name	Semester
1	200041700085	Ram Raghav	5 <sup>th</sup> (B)
2	200041700092	Roshni	5 <sup>th</sup> (B)
3	200041700093	Rukesh	5 <sup>th</sup> (B)
4	200041700120	Vishal	5 <sup>th</sup> (B)
5	-200041700122	Vivek	5 <sup>th</sup> (B)
6	200041721012	Prithvi Sharma	5 <sup>th</sup> (B)
7	200041721016	Yogesh Kumar	5 <sup>th</sup> (B)

Principal

Govt.Polytechnic,

Hisar

Endst. No.

Dated:-

A copy of above is forwarded to following for information & necessary action:-

- 1 O/I Mech. Engg.
- 2 Class Tutor
- 3 Notice Board
- 4 Demand Clerk

Principal

Govt.Polytechnic,

Hisar

# OFFICE OF THE PRINCIPAL GOVT. POLYTECHNIC, HISAR

Order No: 1356

Dated: 20 10 · 22

As per E-mail received from HSTES dated 19.10.2022, it is mandatory to upload the Aadhar No.& PPP Family ID of all newly admitted students (DET/DET-L) on Admission Portal before Last cut off date of admission. So in this regard, all HOD/O/I's are requested to provide the Aadhar No. & PPP Family ID (Haryana Residents) details (soft & hard copy form) of new students (as per list attached) admitted in session 2022-23 (DET/DET-L) of their concerned branch to Sh. Mitesh (Data operator in Admission cell) upto 20.10.2022 (4:00 pm).

Kindly Treat it as Most Urgent & Time-Bound.

Principal

Govt. Polytechnic, Hisar

Dated-

Endst No: GPH/2022/

A Copy of the above is forwarded to the following for the information & necessary action:

- 1) All HOD/O/I's
- 2) O/I Admission

Principal Govt. Polytechnic,Hisar

### OFFICE OF THE PRINCIPAL: GOVT. POLYTECHNIC, HISAR

Office Order No. 1357

Dated: - 20 . 10 , 22

Sanction is hereby accorded to the grant of EOL to sh. Amit kaushik, clerk for 6 days with permission to prefix/ suffix the being holidays under rules 8.116,8.119,8.119c 8.121 8. 137 of Punjab C.S.R. Vol. I Part-1

Sr. No.	EOL	From	То	Days
1	EOL	26-08-2022	30-08-2022	5
2	EOL	23-08-2022	23-08-2022	1

Certified the official would have continued to officiate in the post, but for is proceeding on leave. E.O.L. period will not be counted towards annual increment.

Govt. Polytechnic, Gov. Hisar

End. No.GPH/2022

Dated:

Copy of the above is forwarded to the following for information and necessary action.

- 1. E.A-II
- 2. Pay Bill Asstt, he advised to deduct his salary in lieu of above said EOL
- 3. Sh. Amit Kaushik, Clerk

Principal, Govt. Polytechnic, Hisar

#### Office of the Principal, Govt. Polytechnic, Hisar

Order No.:- 135-8

Dated: - 201 0 22

Expert Lectures for students of Civil Engg will be conducted as per schedule mentioned below by Sh. Magandeep S/o Sh. Rajender Prasad (M.Tech. Civil Engg.).

				Subject
Date	Day	Time	Class	•
26-10-2022	Wednesday	01:00-02:00 Pm	1 <sup>st</sup> Sem	PS-T
26-10-2022	Wednesday		1 <sup>st</sup> Sem	PS-T
28-10-2022	Friday	10:00-11:00 Am	1 Sem	

Principal, Govt. Polytechnic

Dated:

Endst. No./GPH/2022/

A copy of the above is forwarded to the following for information and necessary action.

- 1.H.O.D Mech. Engg/Civil
- 2. TPO
- 3. Magndeep (8295500029)
- 4. Accountant (sf)

Principal, Govt. Polytechnic Hisar

# OFFICE OF THE PRINCIPAL, GOVT. POLYTECHNIC, HISAR

Order No. 1359

Date: 20 /0 . 22

Below mentioned items of Server Room, from Sr. No. 1 to 16 are hereby handed over to, Smt. Rekha Sharma, Lecturer Computer Engg., by Yashwant Singh, Lecturer Textile Design Department.

Sr. No.	Description of Article	Qty.	Indent No. and Date	Remarks
1.	Fibre Patch Cord	80 No.	297, 24/07/2013	
2.	Light Interconnect Unit (LIU) for 12 Core OFC	5 No.	297, 24/07/2013	
3.	24 Port Jack Pannel	1 No.	297, 24/07/2013	
4.	Chasis for fibre module Rack Mount	1 No.	297, 24/07/2013	
5.	24 Port 10/100/1000 Mbps Gigabit Switch	1 No.	297, 24/07/2013	
6.	Load Balancer Router with 4 WAN ports & SSLVPN	1 No.	297, 24/07/2013	
7.	Layer 3 switch SNMP managed with added features 24 port 10/100 Fast Ethernet & 2GB switch for uplink	1 No.	298, 24/07/2013	
8.	1000 base Lx- SM fibre module for 24 port	11	298, 24/07/2013	
	switch	No.		
9.	CAT 6 patch cord 1M	30	298, 24/07/2013	
	oral o paton cora ini	No.		
10.	42 V Networking Rack	1 No.	298, 24/07/2013	
11.	Accessories for 42 V rack	1 No.	298, 24/07/2013	
	C/D with 10 points, cable manager, cantilever			
	tray, fan tray with 4 fans, modam tray, tyres			
	with prones.			
12.	APC UPS online 2KVA for single phase AC	1 No.	299, 22/08/2013	
12.	input & DC output, o/p backup-60min			
2 1	VGB-400 V Guard Stabiliser	1 No.	299, 22/08/2013	
3.	VGB-400 v Guard Stabiliser	1 No.	299, 22/08/2013	
	Air-conditioner (window) Blue star-1.5 Ton	1No.	201, 04/12/1995	
5.	Office steel table size 4'x2 ½'x2 ½'	3 No.	208, 29/10/1996	
6. (	Office steel chair (Round Pipe)	J No.		

Handed Over By

Yashwant Singh, Lecturer

Sh. Desh Deepak, O/I (Textile Design)

Taken Over By

Dated:

Rekha Sharma, Lecturer

Govt. Polytechnic

Hisar

Endst. No. GPH/2022/

A copy of the above is forwarded to the following for information and necessary action.

1. Smt. Rekha Sharma, Lecturer (TD)

Yashwant Singh, Lecturer

3. Store Keeper

4. Personal file of Smt. Rekha Sharma, Lecturer (TD)

5. Personal file of Yashwant Singh, Lecturer

11 Principal Govt. Polytechnic Hisar

# OFFICE OF THE PRINCIPAL, GOVT. POLYTECHNIC, HISAR.

Notice No. GPH/2022/1360

Dated :- 26-16-22

The following student is here by re-admitted on dated 03 Oct 2022, due to deposit of the readmission fees.

Ser No.	•			
01.	Dalip Kumar	190042700006	Text. Tech.	1 3 <sup>rd</sup> Sem

Principa

Govt. Polytechnic, Hisar

Dated:-

Endst. No. GPH/2022/

A copy of the above is forwarded to the following for information and necessary action.

1. HOD Text. Tech.

2. O/I Admission/Class Tutor

3. Exam Br. (upload data HSBTE)

4. Demand Clerk

Principal

Govt. Polytechnic, Hisar

#### Electricity Bill Residences of Staff Colony of Govt. Polytechnic, Hisar From 01.07.2022 to 30.09.2022

r. No	er No. ) 377  Name of Occupant	Old Reading	New Reading	Total Reading	Rate	6-16-92 Amount
1	Principal, Ashok Kumar	35791	36693	902	7.6	6855
2	Meera Siwach	16376	17121			
3	Naresh Kumar	32153	33173	745	7.6	5662
			26370	1020	7.6	7752
4	Rajeev Sardana	25358		1012	7.6	7691
5	Pratibha Joshi	65871	66807	936	7.6	7114
6	Ajay Jindal	12703	13578	875	7.6	6650
7	Kanak Prabha Kulbhushan	53826	54716	890	7.6	6764
9	Sunil Dutt	42135	42981 56011	846	7.6	5244
10	Roshani Ranga	55321	45612	690	7.6	6741
11	Roshani Ranga Rakesh Jindal	44725	20213	887 889	7.6	6756
12	Taurn Sharma	19324	26077	876		and the same of the same of the same of
13	Rajesh Kalra	25201	28970	843	7.6	6658 6407
14	Reetu Singh	28127 28913	29760	847	7.6	6437
15	Yashwant Yadav	28574	29424	850	7.6	6460
16	Sanjeev Sharma	31364	32204	840	7.6	6384
17	Sunil Soni	2729	3231	502	7.6	3815
18	Satender Rohilla	34914	35774	860	7.6	6536
19	Satish	25920	26612	692	7.6	5259
20	Tejendera Singh	36264	37116	852	7.6	6475
21	Arshad Jamal	13846	14541	695	7.6	5282
22	Rajkumar DSO	17016	17518	502	7.6	3815
23	Vacant	0	0	0	0	0
24	Vijay Pal	20182	20682	500	7.6	3800
25	Vacant	0	0	0	0	0 3785
26	Jaibir Singh	19698	20196	498	7.6	1254
27	Kuldeep langra	23990	24155	165	7.6	3777
28	Raghubir	11736	12233	497	7.6	3777
29	Sohan Lal	13740	14239	499	7.6	3116
20	Ashok Saini	15641	16051	410	7.6	3830
	Jagdish Yadav	18985	19489	504	7.6	3861
	Ashok Kumar	22355	22863	508	7.6	5434
33	Pardeep Kumari	20266	20981	715	7.6	3747
	Ravinder Punia	18988	19481	493	7.6	1064
-	Jagdish Chander	1391	1531	140	7.6 7.6	3990
6	Rajbir Singh upto 17-10-22	6246	6771	525	0	0
7	Vacant	0	0	0	7.6	357
8	Anil Kumar upto 01-08-2022	1979	2026	47	7.6	608
8	Rajesh Lamba	2026	2106	80	7.6	3557
	Vijender Gill	2407	2875	468	7.6	3724
V	Balraj	3199	3689 2499	490 395	7.6	3002
_	Sandeep Kumar	2104	16208		7.6	3382
	Renu from 16-07-22	15763	0	445 0	0	0
	Vacant	11024	12064	140	7.6	1064
4	Satbir Singh	11924	484	140	7.6	1072
5 I	Ramesh App. Sci.	343	4970	141	7.6	1064
6 I	Krishna	4830	2740	138	7.6	1049
7	Virbha <b>n</b>	2602	1590	132	7.6	1003
R I	Punit Mehta	1458	10143	130	7.6	988
9 5	Sube Singh	10013	10143		7.6	3390
n   F	Caran	10032	10478	446	7.6	988
1	Gunil Kumari from 24-6-22	52	9758	130	7.6	3162
	oginder	9342	1649	416 145	7.6	1102
	anjay sigger	1504	0	0	0	0
	/acant	0	0	0	0	0
*	acant	0	12735	403	7.6	3063
	harambir	12332	16098	458	7.6	3481
Ji	tender Sheoran	15640	0	0	0	0
	acant	0	0	0	0	0
V	acant	0	359	161	7.6	1224
- 10	hamsher Hostel	198	924	428	7.6	3253
V	ijender Guard	496	30	30	7.6	. 228
A	jay Attendent from 01-08-22	0	0	0	0	0
177	acant	0		380	7.6	2888
	inod Kumar Oper.	465	845		0	0
		0	0	0	7.6	3154
1	acant	540	955	415	0	0
- 7	andeep	0	0	0	7.6	1064
- 5	acant	12098	12238	140	0	0
- 1	asmi Dass	0	0	0	7.6	3131
V	acant	4302	4714	412	0	0
Si	ta	0	0	0	0	0
Va	acant	0	0	0		0
Va	acant	0	0	0	0	
	acant	U	Total A	mount		22963

Dated: 26-10-22

Endst. No: GPH/2022/

Copy to

Incharge Electricity Bill

2 Bill Clerk 3 Cashier Principal Govt. Polytechnic, Hisar

Govt. Polytechnic,

## OFFICE OF THE PRINCIPAL GOVT. POLYTECHNIC HISAR

Order No. 1362

Date 26-10-22

In continuation of order No. 1329 dated 13/10/2022 and order No. 1337 dated 17/10/2022, All HOD/O/I are again requested to check the data of admitted students DET/DET-L 2022-23 of their respective branch and if any correction/Modification in candidate name, mother name, Father name, Gender DOB (as per the matriculation certificate) is required, the same may be reported to the admission cell before 27 October 2022 upto 11.00 a.m. If there is no reporting from any branch, it will be considered as no correction is needed in the above mentioned data. The details of admitted students in Session 2022-23 already circulated to all departments (soft copy and hard copy).

It is directed that the details of PPP ID should be collected from the admitted candidates who have taken admission in leftover seats in institute level manual counseling (whose PPP ID details are not yet uploaded due to non-working of mobile or due to mobile number changed) and upload upto 27/10/2022 on intrahstes.gov.in website.

All HOD/O/I's are also directed to maintain the admitted student's files record along with all required documents of their respective branch.

• No request for correction will be entertain after 27-10-2022 upto 11.00 A.M.

Principal
Govt. Polyte

Govt. Polytechnic,

Endst. No. 12044-61

Date 26-10-22

A copy of the above is forwarded to be following for the information and necessary action through whatsapp.

- 1. HOD/CE, HOD Applied Science
- 2. O/I/ Mech/ I &C /Electrical/ECE/Med. Elex/ŢT/TP/TD/ŢT/FAA/FD/FT/Civil
- 3. O/I Admission
- 4. Notice Board (B Block)

Principal Govt. Polytechnic, Hisar